=0

Name:

Period:
Algebrall-1.5& 1.6 WS
Section 1.5
Solve the inequality and graph the solution.
1. 3x-821 2. 3(y+2)<—2y—4 3. 3n£4(n—1)—8

-3x 2 3yt L2y Y 3n £4n-4-¥
X=-3 Sy £-10 n&ta-lL

IL———] -N<&-12
o [n=12]

~ij ~3 2 —t e
=3 & | o2 '3
4, -5x-1<9 and 3x<x+4 5. 2m>3-m or _6_2m24; 1O
~Sx<I0  axed 3m>3 e &
5(72 and X< & m>1 o M=

-2 2 -5
6. —7<2x+3<9 7. —85—3h;’1<2
—10< 2x 4 Mp t
< ~7£-3n23
3 T3 o
T3 2h = -|

b
s 3 L | £h £73

. ==l
/,;;’/

—| 3
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s Q Section 1.6

Solve each equation.

1 |[4m+2|=10
s
Umr2=10 -4m2=I0
Yz -Ym=12
m:Z m=-23

Name:

Algebra Il - 1.5 & 1.6 WS Period:

2. 2c-6|-7=5 3 Pd—1|=d-3
’ZC'(@l:IZ— /Eﬂpd

ZC‘(_a/:IZ\'ZC—Ho:l?_ Zd’féj's ool

2¢c=b )
Fez=h¥ y 3
ZC:O] [:&C/S NEIWF
Check .

(NO Solurron

Solve each equation and graph the solution.

~ ) 4 |6r-1|>11 5. [2k-3|<5 6. [2y-18+4<10
/\ /\ i
~(t 171 2k-345  “Ar3ES [y L
lpt-1>1] l Jrsy _-3LEZ N
- > D
et7iz 70 [ “2 | 2R Qe
t>2 0R t< 73 Ay<dd  —2y<l:
-— d
157 or e ":ﬁ’-/:/’ &)ZQI‘_ g>(p/
<o o _,__3’:_:,?_—-—
—
-S/3 2 (o 12
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